’TK B 4E 1Y oh 22 40 88 S ER AT (— ) BEHREE

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

R RAGIGEER R - S RESWRIMN2Z/3 -

IR | 7 B SE A R B )08 B -

LRSI HEREEZ -

Super short form, light weight large Through-Hole, just as 2/3 of typical
model length.

Built-in safety check valves and pressure relief valves.

® (Can screw it from the rear end of the cylinder when mounting.

aIff AR BN R RS - (EfEm)

Linear sensor can be attached.(optional)

= EHF|ERFHE Patent numbers :
&% : PATNO.M491534(Taiwan)
KPBE : PAT.NO.ZL201420584274.5(China)

W1 3~Mounting Hole 6~X2 25 Q P ﬁ 6~L1
N1 B LLATE T
A _
- | _ =
3 %PWKSNQLNL\Qg W o o o
07 8 & ¥ § 50 @ 8 Q Q¥ vV
2x2~Q3
Pressure Port
e 4/
_4~Y2 | | L
\J Z |l
i \Y T
RCT" L] g o | U L] et
Drain Port #37, = | =5
233 AlB D" K
RBBIEIERAOMR
Subject to technical changes
z TR SPECIFICATIONS
;@ Eidkr7 JEZEETEES piston area 718 RieaE ReEAEN I £ HHRRE
ER
31'5 el 88 (Extend) HIfl(Retract) Piston stroke Max. speed Max. pressure | Moment of inertia|  Weight | Total oil leakage
Model
i cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
il TK-A528 73.0 69.7 12 8000 4.5 (45) 0.012 6.2 3.0
TK-A533 73.0 69.7 12 8000 4.5 (45) 0.012 6.0 3.0
TK-C643 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-A646 105.0 939 15 7000 4.5 (45) 0.018 7.3 3.0
TK-B646 105.0 939 15 7000 4.5 (45) 0.018 8.6 3.0
TK-C646 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0
TK-B846 135.3 125.0 20 6300 4.5 (45) 0.032 124 39
TK-A853 135.3 125.0 20 6300 4.5 (45) 0.032 11.8 39
TK-B853 135.3 125.0 20 6300 4.5(45) 0.032 11.7 39
TK-A1068 170.1 155.3 25 5500 4.5 (45) 0.065 174 4.2
TK-A1075 170.1 155.3 25 5500 4.5(45) 0.065 18.8 4.2
TK-A1078 170.1 155.3 25 5500 4.5 (45) 0.065 174 42

63 AUTOGRIP




’ TK A g Y ch 2 e BEH BR T (— ) B EEED

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

9N R~ DIMENSIONS

A E Gl G2
Model R B C D F H J K L L1 L2 M1 M2 M3
I DI h7 max. | min. | max.  min.

TK-A528 | 105 141 125 125 /110 45 12 0 38 26 49 775 123 6~M8x20 M8x55 | 14 | M38x15 25 | 13

TK-A533 105 141 125 125|110 45 12 0 38 26 49 775 123 6~M10x20 M8x55 | 14 | M38x15 25 | 13

TK-C643 | 128 156 140 140 120 65 15 O 44 29 | 56 85 125 12~M10x20 M8x60 | 12 | M50x2 25 13

TK-A646 | 128 162 147 147 130 65 15 O 44 29 56 85 125 12~M10x20 M8x60 | 12 | M55x2 25 13

TK-B646 | 128 162 130 147 100 65 15 O 44 29 | 66 95 135 12~M10x20 M8x70 | 12 | M55x2 30 15

TK-C646 125 156 140 140 120 65 15 O 44 29 56 | 85 125 12~M10x20 M8x60 = 12 & M55x2 = 25 | 13

TK-B846 145185 170 165 130 70 20 O | 48 28 66 | 95 135 12~M10x20 M8x70 | 12 | M55x2 | 30 | 15

TK-A853 | 145 185 170 165 140 70 20 O 48 28 | 66 95 135 12~M10x20 M8x70 | 12 | M60x2 30 15

TK-B853 | 145 185 170 165 /130 70 20 O 48 28 | 66 95 135 12~M10x20 M8x70 | 12 | M60x2 30 15

TK-A1068 170 212 190 190 160 95 25 | O 50 25 | 74 108 158 12~M10x20 = M10x80 16  M75x2 35 | 15

TK-A1075 170 212 190 190|160 95 25 O 50 25| 74 108 158 12~M10x20 | M10x80 | 16 = M85x2 | 35 15

TK-A1078 170 212 190 190160 95 25 O 50 25| 74 108 158 12~M10x20 | M10x80 | 16 = M87x2 | 35 15

01 02 R | S
Model NI N2 N3 P Q Q@ @3 T U VWL W2 XTI X2 Yl Y2 | Z
H8 | H8 g7 | H7

TK-A528 M39x15 25 8 35 28 79 85 30 RCl/4 37 62 |70 98 | 6 | 62 | 110 49 M6x6 | 83 M5x6 5

TK-A533 M39x15 25 8 35 33 79 85 30 RCl/4 37 62 |70 98 6 | 62 | 110 49 M6x6 83 M5x6 5

TK-C643  M52x15 29 9 45 43 87 85 36 RC3/8 50 76 |85 116 95| 74 | 120 64 M6x10 98 M5x6 | 5

TK-A646  M52x15 29 9 50 46 87 85 36 RC3/8 50 76 |85 116 95| 74 | 120 64 M6x10 98 M5x6 5

TK-B646 | M52x1.5 29| 9 50 46 97 85 36 RC3/8 50 76 |85 116 95 74 | 120 64 M6x10 98  M5x6 | 5

TK-C646  M52x15 29 9 50 46 87 85 36 RC3/8 50 76 |85 116 95| 74 | 120 64 Méx10 98 M5x6 5

TK-B846  M58x1.5 30 8 50 46 97 85 36 RC3/8 56 85 |96 128 115 79 | 130 73 Meéxl2 110 Méx6 & 5

TK-A853  M58x15 30 8 55 53 97 85 36 RC3/8 56 85 |9 128 115 79 | 130 73 Meéxl2 110 M6x6 & 5

TK-B853 (M58x1.5 30| 8 55 53 97 85 36 RC3/8 56 85 |96 128 115 79 | 130 73 Méxl2 110 M6x6 | 5

TK-A1068 M84x2 34 9 70 68 110 12 40 RC1/2 81 108 121 164 10 98 | 160 98 Meéx12 155 M6x8 5

TK-A1075  M84x2 34| 9 80 75 110 12 40 RCL/2 81 108 121 164 10 98 | 160 98 Mé6x12 155 M6x8 | 5

TK-A1078  M84x2 34 | 9 82 78 110 12 40 RCL/2 81 108 121 164 10 98 | 160 98 M6x12 155 M6x8 & 5

zE
i
£
a
L
i

* EKBRTERIZEFLSHEZSHMAER - *Coolant Collector and Confirmation Device Please See Accessories pages.
AuTocRrIP 64



A 1«

G AU op ZE 3 SR BRET ()
SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

BrasrRKEER

of typical model length.

oIfft AR EAI R AR - (EREm)

Linear sensor can be attached.(optional)

== O

==

=0,

EREBFIR Patent numbers :
: PAT.NO.M491534(Taiwan)

RPBE : PAT.NO.ZL201420584274.5(China)

B - AAEREEHEL - 2RESEREN2/3 -
PRI L B SRS R R TR RS -
LR HEREE 2 -

Super short form, light weight large Through-Hole, just as 2/3

Built-in safety check valves and pressure relief valves.
Can screw it from the rear end of the cylinder when mounting.

W1 3~Mounting Hole 6~L1
— 3,
& al & & 8 8 8§ 8§
2x2~Q3 M1
Pressure Port
#amFL
L
RC1” 2 G1
Drain Port #HFL
@33 AR Jr K
RSB RER 1
Subject to technical changes
¥ ilT#34% SPECIFICATIONS
Eith J&ZE ETSEff. piston area 112 EaOEy BaEREN I =2 HERE
Model 88l (Extend) HiIfl(Retract) Piston stroke Max. speed Max. pressure | Moment of inertia | Weight | Total oil leakage
ode cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TK-A1287 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1291 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
7o TK-A1511 336.4 315.2 30 3000 3.5(35) 0.38 57.9 7.0
H TK-A1512 3364 315.2 30 3000 3.5(35) 0.38 53.8 7.0
BR
;E TK-2114 373.2 336.1 35 2500 3.0 (30) 0.54 58.2 8.0
L2 SNEUR <t DIMENSIONS
il A E Gl G2
Model e B C D F X i H J K L L1 L2 M1 M2 | M3 N1
ID. h7 max.  min. | max.| min.
TK-A1287 | 200 245 215|225 180 110 30 O 59 29 86 | 126 184 12~M12x24) M10x90 14.5| M95x2 |35 15| M99x2
TK-A1291 | 200 245 215|225 180 110 30 O 59 29 86 | 126 184 12~M12x24, M10x90 14.5| M100x2 | 35 15 M99x2
TK-A1511 | 250|300 275|275 230 140 30 O 58 28 102 156 226 12~M16x36/ M12x110 21 | M120x2 | 45 15| M129x2
TK-A1512 | 250 | 300 275|275 230 140 30 O 58 28 102 156 226 12~M16x36 M12x110 21 | M130x2 |45 15 M129x2
TK-2114 265 3201295 295 240 16535 0 | 60 25 115 173.5247.512~M16x32 M12x120 | 17.5 M155x2 ' 45|20 M149x2
01 02 R S
Model N2 | N3 P Ql @2 @3 T U 'V Wl w2 Xl X2 Y1 Y2 z
H8  H8 g7 H7
TK-A1287 38 9 90 87 1275 | 15 45 RC1/2 | 96 120 138 180 7 | 110 | 185 | 108 | M6x10 | 165 | M6x10 5
TK-A1291 138 9 95 91 1275 15 45 RC1/2 | 96 120 138 180 7 | 110 185 108 | M6x10 | 165 M6x10 5
TK-A1511 | 38 | 9 115 110 15375 17 | 50 RC1/2 126 150 170 227 |7 | 134 | 210 H 138 M6x10 | 210 | M6x9 6
TK-A15612 | 38 9 125 120 153.75 17 50 RC1/2 126 150 170 227 7 | 134 | 210 138 M6x10 | 210 | M6x9 6
TK-2114 38| 9 | 145 140 170 17 50 RC1/2 146 170 | 190 250 ' 7 145 210 160 M6x10 230 M6x10 | 6

* KR RITEMERE

65 AuTOGRIP

EFE2RFEZMWHEE - *Coolant Collector and Confirmation Device Please See Accessories pages.




’ TK BERDZEEHE (=) BEsEEED

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

o EETARALREE - RAKEEE MG -
o NI E NS KB TR R -
® New design, short form, light weight large through-hole.
® Built-in safety check valves and pressure relief valves.
n OMINEHEEA SRS - (BEER)
®  Linear sensor can be attached.(optional)
m FFERZFH Patent numbers:
&4 : PATNO.M491534(Taiwan)
ARPEE : PATNO.ZL201420584274.5(China)
wi exe 2> B P 6L
N1 0 I
1 L/S/ _
X =S X 7 =
z 9 |IN2 )
YA - @3‘
8}:{# ﬂ—},,oq,_wn:g = Liw| oo
. SEENINIE 50 (& Frwcl\nz@@@@
2x2~Q3 \
Pressure Port &, N — U]
g | TKL M1
=
4
4~Y2 Z
L Vv H G1
RC1” X © Tt
Drain Port J#H7, L G2 ‘ J
033 (TK-2820:039) | |l K
Dr
Bl
REIRIER AR =
Subject to technical changes
i fliAR1& SPECIFICATIONS
itk SEZEEE Eff. piston area 1772 EelEy EaERES I 58 BRRE
H#{(Extend) fIfl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia | Weight | Total oil leakage Zz
Model 3
cm? cm? mm min*(rp.m.) MPa(kgf/cm?) kg:m? kg lit. / min. ;;'i
TK-2416 4184 3754 35 2000 3.0(30) 112 78.0 9.0 m
Ed
TK-2416L 4184 3754 51 2000 3.0 (30) 131 79.2 9.0 ;’I’
TK-2820 526.2 472.6 51 1600 3.0(30) 24 134.0 10.0
hEY R <) DIMENSIONS
A E Gl G2
Model g B C F . . H J K L M1 M2 ' M3 N1 N2
AELD. h7 max. | min. | max. | min.

TK-2416 290 340 300 260 190 | 35 O | 60 | 25 129 1855 275 <M16x32  M180x3 45 20  M174x2 38

TK-2416L 290 340 300 260 190 51 O 76 @ 25 145 2015 | 291 MI16x32 M180x3 45 20 | M174x2 @ 52

TK-2820 340 395 360 320 235 51 O | 76 | 25 152 2125 316 @ M20x40 H M220x3 45 20 | M218x2 = 52

o1 | 02 R S
Model P Q1 Q@ Q3 T U V. oWl w2 X1 X2 v1 Y2 z
H8 | H8 g7 | H7

TK-2416 170 166 1865 | 20 | 50 RCl/2 | 171 202 | 220 292 7 167 | 250 | 188 @ M6x1l | 260 M6x12 5

TK-2416L | 170 166 2025 20 50 | RC1/2 171 202 | 220 292 7 167 250 | 188 M6x1l @ 260 Meéx12 6

TK-2820 210 1 205 | 216 | 21 | 50 | RCl/2 215 | 262 | 285 360 | 7 | 2025 300 240 Mex1l2 | 320 | Méx12 6

*EKBRITEEDEEBZSEEMMAER - *Coolant Collector and Confirmation Device Please See Accessories pages.
AUTOGRIP 66



AL 8 g AU o 28 900 BE 5 [BR ] KA SBIRR
SHORT TYPE ROTARY HYDRAULIC CYLINDER WITH BIG-BORE THRU-HOLE AND SAFETY DEVICE

i Ts

o ZTITFRBIRET - MBAFLKEEEE R -
o BARACWERALKEM LY ZERALKWEHEEILK -
o [N B Sk &R ER -
o LRFUHEBRHEEL -
® Bigger bore through-hole design.Super short form, light weighted.
® Built-in safety check valves and pressure relief valves.
® Front/Rear end mounting.
m OJERE 040 3¢ 060 NIABEKEREE -
m OIFYINARMEEN RS - (M)
= Diameter of coolant collector’ s drain port is optional.
Default : @33 ; optional : @40, @60.
= Linear sensor can be attached.(optional)
B FEFERFH Patent numbers :
& . PATNO.M491534(Taiwan) / APBE : PAT.NO.ZL201420584274.5(China)
w1 Q1 P L2 6~L1
2~ 2RI A _ [ |
. 2.5 AETTET———
Mounting Hole 6~X2 *H« ,’,fi- ;Zj -
& Y1 N1 =
e
Y i T ) N3
BEC w2 B ;
8 - 8 mg
\ | 8 S
2x2~q3 A - L
PSRk 9
Pressure Port ~
=
I
Wml X 3
Drain Port 7 |
C
‘@33
[
(RERIBIERRIRT
Subject to technical changes —
=
S 1T #3145 SPECIFICATIONS
JE& BISE JEZEETE Eff piston area 772 EeOEY =N el I = HRRE
Eg Model 848 (Extend) HIffl(Retract) Piston stroke Max. speed Max. pressure | Moment of inertia | Weight | Total oil leakage
ode
;E cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TS-539 724 67.1 15 8000 4.5(45) 0.012 6.9 3.0
TS-866 168.0 5585 25 5600 4.5(45) 0.056 16.3 4.0
TS-1081 189.2 1743 25 4800 4.5(45) 0.085 21.2 43
9N 2 <F DIMENSIONS
A E Gl G2
Model A B Bl C | D F : ; H J K L L1 L2 M1 M2 | M3
1D. h7 max.  min.  max. | min.
TS-539 107 143|141 125 125 110 52 15 4251275 57 91 124 6~M10x20 | M8x60 | 12 |M45x1.5 25| 12
TS-866 165 211|207 190 190 168 85 25 55 | 30 725 107 149 12~M10x20 M10x80| 17.5 | M75x2 | 35 | 15
TS-1081 180 226|222 205 205 168 100 25 58 | 33 74 115 166 12~M10x20 M10x80| 16 | M90x2 | 35 | 15
Model N1 N2 | N3 oL 02 P Ql Q2 Q3 ] > T U |V wl w2 x1 X2 Y1 Y2 z
e (H8)  (H8) @) (H7)
TS-539 M44x1.5 | 26 42 1 39 |8 85 | 30 [RCl/4 42 69 |72 103 10 625 100 54 M6x10 90 Mb5x12| 5
TS-866 M74x1.5 | 37 72 | 66.5 105 12 45 RCl/2 72 100 [111 154 12 95 140 88 M6x12 | 140 M6x10 5
TS-1081 M89X2.0 | 38 85 | 81 109 15 45 ' RCl/2 86 113 |123/ 175 16 103 160 103 M6x12 | 160 M6X10 5

*EKERITEEREEAZSRSMERER -

67 AUTOGRIP

*Coolant Collector and Confirmation Device. Please See Accessories pages.




[y
gt
[t
iy
il
ftH

TH Cp 2= 208 885 [BA ]
ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

BERE K8  AAKEDEESEL -
REZY IR B %S - S LEBERSEREEREGER - EREDNAR
B MEERHERBNRFIEY -

® Super high speed, light weight large Through-Hole.

® Built-in check valve which prevents the internal pressure from sudden
declining so that the workpiece will not fly out and cause a serious
accident.

w CIMINAR MM RS - (M)

= Linear sensor can be attached.(optional)

by wuw ool o
&st T “M' SESIRSIES IS
1
W M1
L
i w S
\ \ \ \
(TH-428:RC3/4") | | B8 G2 | | H G1
RC1” Drain Port /E% Eg
SEHA L J
B33 | (TH-428:926.5) ‘ K
z
RBBIEIEWAREF H
Subject to technical changes /
BR
2 fli 4% SPECIFICATIONS EE
B5E JEZEHEE Eff. piston area 718 = aiE EeEREN I B8 mRRE [
el # i (Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia | Weight | Total oil leakage il
Mode
cm? cm? mm min-(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TH-428 53.2 50.5 10 8000 4.0(40) 0.008 5.8 3.0
TH-A536 69.8 67.5 15 8000 4.0(40) 0.05 8.3 3.0
AhEYR<T DIMENSIONS
A
Model |« m@& 8 ¢ | b B o fp GGl GG K L M1 M2 M3
ID. (h7) max.  min. | max. = min.
TH-428 90 130 | 120 100 @ 80 | 40 10 0 35 25 45 11275 155 @ 6-M8x15 M33x1.5 25 12
TH-A536 105 | 150 @ 135 | 115 100 | 48 15 0 40 25 40 118 166 @ 6-M10x20 MA42x1.5 25 15
01 02 R
Model N1 N2 H3)  (H8) P Q1 Q2 Q3 @7 S T U \Y W1 W2 X1 X2
TH-428 M34x1.5 26 30 28 11015 11 24 RC1/4 32 45 65 86 4 72 105 76 M4x7
TH-A536 | M44x1.5 28 38 36 1115 10 24 RC1/4 | 42 55 73 98 4 80 110 83 M5x10

* EKBRTERIZEFLSHEZSMHAEHR - *Coolant Collector and Confirmation Device Please See Accessories pages.
AuToGRIP 68



’ TR B 45 B oh 20 3@ §8 5 [BR T BEsENEn

SMALL TYPE ROTARY HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

S REER  ESKI -
NESANF | FREBERE 22 REEEE
REEHAEAR M - AHEKX - HOHIE -

BHLEREARNHETEME - ZHEHEEE -

O ERMR I 0BT 8 -

This is a compact, short form, light weight through-hole rotary cylinder.
With patented build-in safety check valves and pressure relief valves.
Large feed port and drain port, large input and keep drain smoothly.

Can be screwed from the front end or rear end of cylinder when mounting.
For use with vertical or horizontal spindles.

aIft AR EAI AR AR - (EFEm)

Linear sensor can be attached.(optional)

o

B ERERZFEI Patent numbers:
&% : PATNO.M491534(Taiwan)
AKPBE : PAT.NO.ZL201420584274.5(China)

Q1 P , L2 6~L1
»5 50 6~V2 W’H - L]
T I }
S N1 Rl
N
T 6 A\ 3 o3| | u[N2||.N3 7@ g g8
o NS o Q Q
i W)E:! e 88 s | &
2x2~Q3 N - i
Pressure Port [T > g ﬂ‘:ﬂﬁ
#d5L
e i
U1 f\ U1 4~W2 Ll ==
| 4~VVZ,
e | L8] 2
Drain Port
SEHAL J Z1
G2 K G1
I
A\ \B \_qr
REBIEIELOT
Subject to technical changes
1T #34% SPECIFICATIONS
7 EISR JEEEE Eff. piston area 1772 EeEY EaEREN I £ mRRE
S Model #8(Extend) #1118l (Retract) Piston stroke Max. speed Max. pressure Moment of inertia | Weight | Total oil leakage
53 %€ cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
a TR-539 724 67.1 15 8000 4.0(40) 0.010 6.8 3.0
ﬁ TR-646 105.0 939 15 7000 4.0(40) 0.015 95 30
TR-853 1353 125 20 6300 4.0(40) 0.032 115 39
TR-1075 170 155 25 4500 4.0(40) 0.065 18 42
ShES R <) DIMENSIONS
A E Gl G2
Model AE B C D F . . H J K L L1 L2 M1 M2 M3
1D. h7 max. | min. | max. = min.
TR-539 107143125 125110 52 | 15 0 34 19 4 97 | 133 | 6-M10x20 M8x60 12 M45x15 25 12
TR-646 128 165|147 147 /1130 65 | 15 0 34 | 19 35 97 | 135 12-M10x20  M8x60 | 11.5 M55x2 | 25 @ 13
TR-853 1451185165 170 130| 70 | 20 = O | 47 | 27 45 1185 160 12~M10X20 M8x75 12 M60x2 | 30 | 15
TR-1075 170 212 190 190 160 95 25 O 52 | 27 | 45 1295 181 12~M10x20 M10x1.5 @ 16 &= M85x2 = 35 | 15
Model N1 N2 N3 o1 02 P Q1 Q2 Q3 R S T ulr | U2 vi V2 W1 W2 A Z1

H8  H8 g7
TR-539 M44x15 8 25 1 42 39 925 65 26 RC1l/4| 42 40 103 525 55 53 | M5x8 90 | M5x9 RC1/2

TR-646 M52x15 8 25 50 46 95 5 | 32 RC3/8 50 50 116 59 62 615 M5x9 98 H M5x9 RC1/2
TR-853 M58x1.5) 8 30 | 55 53 |114 8 | 34 RC3/8 56 | 50 128 65 67 70 M5x10 110 M6x11 RC1/2
TR-1075 M84x2 = 9 | 33 | 80 75 1235 12 40 |[RC1/2| 81 50 164 83 86 95 M5x10 155 Mé6x1l RC3/4

* EKBRTERIZEFLSHEZSMHAEHR - *Coolant Collector and Confirmation Device Please See Accessories pages.
69 autocrip

(O BN, IO, B, |




A RK

P30 L 78 o 5 0 83 BR ]

ROTATING HYDRAULIC CYLINDER WITH SAFETY DEVICE

[SEEvSRS

o A . HiF . KSIVEEHEG -
o NEYIHBEHEEERERER -
o LRI UMEBIKEELT -
® Forshort form, light weight and high speed rotary cylinder.
®  Built-in safety check valves and pressure relief valves.
® (Can screw it from the rear end of the cylinder when mounting.
n RAREBLERZELOEEE DBRELERE -
m  The drain port should be independently connected to oil tank to avoid
back pressure.
L2
He—=——==
6~L1 /]
. _ ALD. WE || N1 ]
3 B:st 2 ||
T Lf,\? N —
D O
a's Lor ﬂ i L a e e ga)s
& AN
/i < I }
L s Y
< RC1/4” =T
Drain Port J2HF, ‘ ’ ‘ p =
2~RC3/8" (RK-200:RC1/2") E
(RK-75:60) Pressure Port #5387, SN
H G
2~RC1/2" -
Pressure Port #8587 Qa p J
@ | ) T M
A B NA)
Q WA
jo! B
RC3/8" FlL
Drain Port J#jiif, ~ Dr R
RBIRIE SRR RK-250
Subject to technical changes
i #itE& SPECIFICATIONS
RIS JEZEETE Eff. piston area 112 BEEEg EaERAEN I =
Model 88l (Extend) HiIfHl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
ode cm? cm? mm min-(r.p.m.) MPa(kgf/cm?) kg-m? kg
RK-75 442 371 15 6000 4.0 (40) 0.01 29
RK-100 78.5 71.5 20 6000 4.0 (40) 0.03 44
RK-125 1227 1131 25 6000 4.0 (40) 0.05 6.9
RK-150 176.7 160.8 30 5500 4.0 (40) 0.09 9.5
RK-200 3141 2904 35 5500 4.0 (40) 0.28 154
RK-250 469.1 436.0 60 2000 5.0(50) 0.40 45.2
MBS R~F DIMENSIONS
Model | A | B | c b1 D2 B F GGyl L i e/ MiNn|[N|P|Q|R|S
(h7) max. | min. (H8)
RK-75 75 115 /107 90 90 65 30 45 30 57 148 M20x2.5 6-M8xl6 | M8x60 | 12 | 21 35 5 415 10 27.5 26
RK-100 100 20 132 115 100 80 30 45 25 |72 163 M20x2.5 6-M10x20 = M8x75 12 ' 21 35 5 |39.5 10 285 32
RK-125 125 25 160 140 130 110 35 50 @ 25|82 172 M24x3.0 6-M12x20 = M8x85 12 25 45 5 |385 10 285 32
RK-150 150 30 190 170 130 110 45 55 25 | 95 184 M30x3.5 12-M12x24 M10x100 16 32 45 5 | 37 10 285 32
RK-200 200| 35 | 245 220 145 120 55 70 35 115 201 M36x4.0 | 12-M16x30 M10x125 21 38 |60 5 |38 6 285 28
RK-250 245 60 | 307 275 220 160 65 85 25 165 255 M42x3.0 | 12-M20x35 M16x175 28 45|65 12 33 18 6 | -

Autocrip 70

zE
i
£
a
L
i




SiEaE

Cp 8 30§25 B ]
ROTATING HYDRAULIC CYLINDER

A RK-N

o A . HiE . KSIVEEHET -
o LEFUMEBIKEELT -
® Forshort form, light weight and high speed rotary cylinder.
® (Can screw it from the rear end of the cylinder when mounting.
n ORMAREBLERZELOEEE  DBRELSRE -
= The drain port should be independently connected to oil tank to avoid
back pressure.
=
F —
5 6~L1 [~ T
N s ] ]
1 N A: 1.D. AfE N1
A B |Dr Ei: m B:St. 1752 || [ )
4 W W o =
I - B N %l Ql Q| Al QO (é)
g L ’ TS — 1 Q| Q
Wbl N K
RC1/4” !
Drain Port JHH7, ‘ R ‘ ‘ P el
T N
Q
2~RC3/8"(RK-200N:RC1/2") — 5 L
(RK-75N:60) Pressure Port  #35#7L I
‘ 77 5(RK-250N:90) H G
J
IREBRBIELAER)
Subject to technical changes
F i #2418 SPECIFICATIONS
BISR JEZEEME Eff. piston area 112 EEEEY EaERAE I Es
$8 (Extend) HIf(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min-(r.p.m.) MPa(kgf/cm?) kg-m? kg
e RK-75N 442 371 15 6000 4.0(40) 0.01 2.8
i
H RK-100N 78.5 71.5 20 6000 4.0(40) 0.03 4.3
JE%
| RK-125N 122.7 1131 25 6000 4.0(40) 0.05 6.8
;? RK-150N 176.7 160.8 30 5500 4.0(40) 0.09 94
RK-200N 3141 2904 35 5500 4.0(40) 0.28 15.3
RK-250N 469.1 436.0 60 2000 5.0(50) 0.40 45.2
ShEYR < DIMENSIONS
E G G M
Model A B C DLID2 o Fooo min B K L L1 L2 g N NI P Q R S
RK-75N 75 115 107 90 90 65|30 45 30 57 1345 M20x2.5 6~M8x16 = M8x60 | 12 ' 21|35 5 |28 10 275 26
RK-100N 100 20 132 115 100 80 30 45 25|72 1495 M20x2.5 6~M10x20 M8x75 12 21 35 5 26 10 285 32
RK-125N 125/ 25 160 140130 110 35 50 25 82 159.5 M24x3.0 6~M12x20 M8x85 12 25|45 5 |26 10 285 32
RK-150N 150/ 30 190 170 130 110 45 55 25 95 1725 M30x3.5 12~M12x24 M10x100 16 32 |45 5 | 26 10 285 32
RK-200N 200 35 245 220 145120 55 70 35 115 1925 M36x4.0 12~M16x30 M10x125 21 38 60 5 30 6 285 28
RK-250N 245 60 307 275 220 160 65 85 25 165 255 | M42x3.0 | 6~M20x2.5 M16x175 28 45 65 12 37 18 6 | -

71 AUTOGRIP



il
P
i3
il
ft

'8 30§ B ]

ROTATING HYDRAULIC CYLINDER

LEREREARERASRESSHEMAN - E8K -
LEESRRRET - FEATNMARR2RNEB LA - MAEM &
L IEREMS -

® The rotary valve and cylinder body, all made of special light alloy, light-
weight.

® Through unique design, the rotary valve enables the inside bearing to
get sufficient lubricating and cooling and endure high-speed rotary for
longer service life.

n CRHRAREBNERZELOEEE DBREELERE -
m  The drain port should be independently connected to oil tank to avoid
back pressure.

1
L A B | Dr ) alo
wL
®
RC1/4”
Drain Port J2;H7L
2~P

13(RH-200:14)  Pressure Port #45# 7L

6
102 H G
J
Subyect o technical changes
i 4% SPECIFICATIONS
RIS JEZEETE Eff. piston area %2 EeEEg EaERES I i
Vodel 18 (Extend) 118 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight §
cm? cm? mm min*(rp.m.) MPa(kgf/cm?) kg-m? kg 7?
RH-65 31.0 279 15 6000 3.5(35) 0.01 29 ;E
RH-80 477 4238 15 6000 3.5(35) 0.01 34 B
RH-100 754 70.5 20 5500 3.5(35) 0.04 49 i
RH-125 119.6 1125 25 5500 3.5(35) 0.08 6.8
RH-200 310.0 286.3 35 4000 4.0(40) 0.38 204
MBS R ~F DIMENSIONS
Modl | A B C D S F O S H ) K L dy N p Q R S
RH-65 65 | 15 98 80 60 22 45 30 73 175 |M12x1.75x30 6~M8x16 14 | 4 | RC3/8 30 @ 15 | 45
RH-80 80 | 15 112 90 65 25 45 30 74 176 | M16x2.0x30 6~M8x16 17 = 4  RC3/8 30 15 | 45
RH-100 100 20 |135/100 80 25 45 25 885 1905 M16x2.0x30 6~M10x20 17 | 4  RC3/8 | 30 | 15 | 45
RH-125 125 25 160 130 110 30 50 25 955 1975 M20x2.5x35 6~M12x20 21 | 4 RC3/8 | 30 | 15 | 45
RH-200 200 35 245 145 120 55 70 | 35 130 @232 M36x4 12~M16x30| 38 = 5 RC1/2 31 16 43

AUTOGRIP 72



il
[
i
il
ft

RA O 700 B8 75 [BR ]
ROTATING AIR CYLINDER

Liﬁﬁ'ﬁ Ae BN AR S ER Fﬂﬁfﬁﬂ“‘/\% SR - B8 -
LEELSRRE - EEBRRESAERERERND  ROREBESKE

M -

® The rotary valve and cylinder body, all made of special light alloy, are
light-weight.

® Through unique design, the rotary valve can considerably reduce the
waste in compressing air and efficiently increase its utillization.

n EAE . BRAMEBNNTE

®  When used, a little oil mist should be contained.

L
A: I.D.AE
|/
=
s T
/ﬂ 4»r><7
— /Wlfﬂ%u_moom
NIl ——-u QI RV, § Q| 8 Q
3 K
/ L LA
LTI I
7@ A 15| 36.5
I N
S|Iencer 2~RC1/4”
HER Pressure Port
95 H G
J
IREBIRAB SRR
Subject to technical changes
54248 SPECIFICATIONS
EISR SEZEETE Eff. piston area 1772 EeEEg EaERAEN I 58 ERERE
vo B (Extend) HIf(Retract) Piston stroke Max. speed Max. pressure M?r:?:t?; @i Weight  Air Leakage( 6kgf/cm?)
- Model
i cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg cc/sec
[
| RA-100 77.0 744 15 6000 0.8(8) 0.03 39 400
;? RA-130 131.2 1247 15 5000 0.8(8) 0.05 5.2 400
RA-170 2254 219.0 20 5000 0.8(8) 0.18 8.5 400
RA-220 378.6 369.3 25 4000 0.8(8) 0.36 14.5 400
RA-270 571.0 562.9 30 3000 0.8(8) 0.75 184 400
ShEYR < DIMENSIONS
E G G
Model A B C D h7) F - ey H J K L M (H8) N
RA-100 100 & 130 - 80 60 22 50 35 65 160 M12x1.75 6-M8x16 13 25
RA-130 130 | 160 @ 120 90 65 25 45 30 70 165 M16x2.0 6-M8x16 17 30
RA-170 170 200 @ 140 @100 80 25 45 25 85 180 M16x2.0 6-M10x18 17 30
RA-220 220 | 255 170 | 130 110 30 50 25 91 186 M20x2.5 6-M12x20 21 35
RA-270 270 = 305 190 | 130 110 35 55 25 105 200 M24x3.0 6-M12x20 25 40

73 AUTOGRIP




’ RS Py 500 | 61 17 A2 122 ) A 4 55 5 BR R B

ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL AND SATETY DEVICE

A S - (TI2EHI AR ER ] -

RETVO R - TIRREES - OIERVHERELIEE{FE -

PRI L B SRS R B TR RS -

LRI o HERHEE 2 -

For short form, high speed and stroke control.

With proximity sensor, the movement of the position is easy to adjust and
confirm when operating.

® Built-in safety check valves and pressure relief valves.

® (Can screw it from the rear end of the cylinder when mounting.

n CEMAREBNERZEOHEE  DUBRELTRE -

B TRERBAEREIE SR EN R FHE - (F1Hm)

m  The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Posisioning System.

T
&
L2
6~L1
2x2~M5x0.8
=== -
ALD. A7 5 r
B: St 1712 | [
=1 =r o =
I -—EaE §I 8§88 8
/4‘?/ ’ = i ‘ N K
a ! RC1/4” T _F
KR Byt Drain Port %7, / | B==
78 78 27(RS-200:29.5) ‘\ﬂ i,* (L
2~RC3/8"(RS-200:RC1/2") H2 H G
Pressure Port #5817 J
RS-200 RS-75,100,125,150
RBBIEIERAOMR
Subject to technical changes
i #31E SPECIFICATIONS
itk JEZEEME Eff piston area 172 BEEEY EaERAES I £
Model #{8 (Extend) HiI{Al (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight %
ode cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg ;;'i
RS-75 43.0 371 15 6000 4.0 (40) 0.01 34 EE
E|
RS-100 774 715 20 6000 4.0 (40) 0.04 49 ;’I’
RS-125 1216 1131 25 6000 4.0 (40) 0.05 7.4
RS-150 175.6 160.8 30 5500 4.0 (40) 0.10 10.7
RS-200 313.0 2904 35 5500 4.0 (40) 0.29 15.9
ShEL R <) DIMENSIONS
E G G M
Model A B C D1 D2 h7) F s H H1 H2 J K L L1 L2 (H8) N
RS-75 75 15 107 90 90 65| 30 45 30 57 42 145 202 M20x2.5 6~M8x16 M8x60 12 | 21 35
RS-100 100 20 132115 100 80 | 30 45 25 72 | 42 145 217 M20x2.5 6~M10x20 M8x75 12 21 | 35
RS-125 125 25 160|140 130 110 35 50 25 82 | 41 144 226 M24x3.0 6~M12x20 M8x85 12 | 25 | 45
RS-150 150 30 190|170 130 110 45 55 25 95| 39 142 237  M30x3.5 | 12~M12x24 M10x100 | 16 | 32 | 45
RS-200 200 35 | 245 220 145120 55 70 35 115 34 |1425/257.5 M36x4.0 12~M16x30 M10x125 21 38 60

* 3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.
AuTOGRIP 74



[SEEvSES

1772 12l B30 8 BR ]
ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL

WA SE - TG ERE W -

RETVO R - TIRREES - OIERVHERELIEE{FE -

LR HEREE 2 -

For short form, high speed and stroke control.

With proximity sensor , the movement of the position is easy to adjust
and confirm when operating.

® (Canscrew it from the rear end of the cylinder when mounting.

n CRMAREBNERZEOEEE DUBRELTRE -

B TREBAEEIE SR EN R FHE - (FHm)

= The drain port should be independently connected to oil tank to avoid
back pressure.

m  Stroke Detection Type can be customized to Linear Posisioning System.

5 F M12x1 = r $125 od
B e 1 & g
P T L2
@ AB | Dr 6~L1
===
: A ID.RE [ 75 r
\% Ti B st 78 ;;*
— _ W::‘_‘giu- w 8 alo
L‘ \IJ‘L:%AQ SIESIESIRS]
ﬁﬂjﬁf N K
RC1/4" ﬁ _
Drain Port J#5#4, ==
27| | 28
10 S NL
2~RC3/8"(RS-200N:RC1/2") | 43 S-200N:134.5) I H G
RS-200N Pressure Port  #4H 7L ]
RBBIEIERAOMR
Subject to technical changes
1T A3 4% SPECIFICATIONS
itk JEZEEME Eff. piston area 712 BEEEY EaERAE I 2
el #{8 (Extend) HiI{8 (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Mode
cm? cm? mm minY(r.p.m.) MPa(kgf/cm?) kg-m? kg
RS-6520N 32.0 283 20 6000 4.0(40) 0.01 3.2
RS-6530N 32.0 283 30 6000 4.0(40) 0.01 33
vo
% RS-75N 43.0 37.1 15 6000 4.0(40) 0.01 33
/|
& RS-7530N 43.0 37.1 30 6000 4.0(40) 0.013 3.7
;g RS-100N 774 715 20 6000 4.0(40) 0.04 4.8
ﬁ_Ir RS-125N 121.6 1131 25 6000 4.0(40) 0.05 7.3
RS-150N 175.6 160.8 30 5500 4.0(40) 0.16 10.6
RS-200N 313.0 290.4 35 5500 4.0(40) 0.29 15.9
SNEY <) DIMENSIONS
E G G M
Model A B C D1 D2 h7) F g | mha H J K L L1 L2 (H8) N
RS-6520N 65 20 97 80 80 60 25 45 25 62 193 M16x2.0 6~M8x16 M6x70 145 17 | 30
RS-6530N 65 30 97 80 80 60 25 45 15 | 62 203 M16x2.0 6~M8x16 M6x80 145 17 | 30
RS-75N 75 15 107 90 90 65 30 45 30 | 57 188 M20x2.5 6~M8x16 M8x60 12 21 | 35
RS-75630N 75 30 107 90 90 65 30 @ 45 15 | 72 203 M20x2.5 6~M8x16 M8x75 12 21 | 35
RS-100N 100 20 | 132 115 100 80 | 30 45 25 72 203 M20x2.5 6~M10x20 M8x75 12 21 | 35
RS-125N 125 25 160 140 130 110 35 50 @ 25 82 213 M24x3.0 6~M12x20 M8x85 12 25 | 45
RS-150N 150 30 | 190 170 | 130 110 45 5 1 25 | 95 226 M30x3.5 | 12~M12x24 M10x100 16 32 | 45
RS-200N 200 | 35 | 245 220 145 120 55 | 75 | 35 115 | 2495 M36x40 | 12~M16x30 M10x125 21 | 38 60

* 3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.
75 AuTOGRIP



’Rl. P58 1 1 f ) 7K B 2 855 BR R T s

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SATETY DEVICE

SR - JTKEVREHET - o] R A TIHIK -
PRI L B SRS R R TR RS -
To allow coolant to be feed from the rear end of the distributor through
the rotating union
® Built-in safety check valves and pressure relief valves.

u iifEHZrLEEﬁq?;‘,Z\%ﬁ%T%EfEEE% DU EE R
n EKEERISEER  BYEE -
®  The drain port should be independently connected to oil tank to avoid

back pressure.
u  The rotary cylinder should not run without liquid through coolant port.

6~L1 »’L_z‘«
Ko
i =3
& “
RC1/4” = _
Coolant Port {7k, — g\ Isltjﬁ = 8
1 e
C) —’T‘Qﬁ = - ”r§1“@%{8‘50
o T St HEE
® H O TN K
RC1/8" i _H
Coolant Drain Port %7K+l —
%9/ 20 H1 )
T
1313 RC1/4” L 5 L
Drain Port 2,
60 c H2 H G
s
( J
A
- 2~RC3/8"(RL-200:RC1/2")
C-br AH B| Dr Pressure Port  #5#H 4L

PV Limit value 14400 MPa-r/m
PV PR E

{REBRABIEAORER]
Subject to technical changes

Fe i #524% SPECIFICATIONS

itk JEZEMHEME Eff piston area 112 R OEE =aERAEN KRB E AR I £
Vodel I (Extend) HIBl(Retract) Piston stroke Max. speed Max. pressure CO%'IE;T ;?er;rgzcr:;ion Moment of inertia Weight =
cm? cm? mm min-i(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg S
RL-75 426 371 15 6000 4.0(40) 3.5(35) 0.01 31 f’E
RL-100 77.0 715 20 6000 4.0(40) 3.5(35) 0.04 4.6 ﬁ
RL-125 1212 1131 25 6000 4.0(40) 3.5(35) 0.06 71
RL-150 175.2 160.8 30 5500 4.0(40) 3.5(35) 0.10 9.7
RL-200 3125 2904 35 5500 4.0(40) 3.5(35) 0.30 15.6

4M R <) DIMENSIONS
Model A B  C DI D2

F |Gmax. Gmin. H H1 H2 J K L L1 L2 (H8)

RL-75 75 15 107 90 90 | 65 30 45 30 | 57 42 137 194 M20x2.5 | 6~M8x16 M8x60 | 12 21 | 35

RL-100 100 20 132 115|100 80 K 30 45 25 | 72 42 137 209 M20x2.5 6~M10x20 M8x75 | 12 21 35

RL-125 125 25 | 160 | 140 130 110 35| 50 25 1 82 41 136 218 M24x3.0  6~M12x20 M8x85 | 12 25 45

RL-150 150 30 190 170 130 110 45 55 25 | 95 39 134 230 M30x3.5 12~M12x24 M10x100 16 | 32 45

RL-200 200 35 245 220 145 120 |55 70 35 |115 36 | 132 248 M36x4.0 |12~M16x30 M10x125 21 38 60

AUTOGRIP /6



’ RL-N )& 7K BU 300 82 e R 1] S

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION

BE - TKEDEHREL - o EBEEREATIHIK -
ZERUREIKHEEZ -
® To allow coolant to be feed from the rear end of the distributor through

the rotating union.
® (Can screw it from the rear end of the cylinder when mounting.

n ORRAREBLERZELOEEE DBRELSRE -

n EKEERSEER  BYEE -
The drain port should be independently connected to oil tank to avoid
back pressure.

= The rotary cylinder should not run without liquid through coolant port.

6~L1 »r"_j«
RC1/4" -
Coolant Port 7K %L, ALD. R 17 g I
B:St. 7% || .
7S e 1] Y ===
™ N e (Tl stw o | =
&J i “Q 1 \\L®®gooﬁ®3
3 ﬁ T S 8
@ s ﬁ’il |‘:7| 71'\ N \i(
RC1/8" £ | il 1) L i _H
Coolant Drain Port 87K,  —
- 20 28 S
RC1/4” 5
18, 13 Drain Port 27, Lo =
o 3.5 H G
c J
4 2~RC3/8"(RL-200N:RC1/2")
A Pressure Port #3;87L
C-D H-3
PV Limit value 14400 MPa.r/m A B | Dr

PV [RHIE

{REBRABIERORER]
Subject to technical changes

Fe i #524% SPECIFICATIONS

itk JEZEMHEME Eff piston area 112 R OEE =aERAEN KSR EE AR I =]
N Vodel Bl (Extend) Hffl(Retract) Piston stroke Max. speed Max. pressure CO?JIZT: ;?:;;Eigon Moment of inertia | Weight
% cm? cm? mm min-i(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
% RL-75N 426 371 15 6000 4.0 (40) 3.5(35) 0.01 3.0
;E; RL-100N 77.0 715 20 6000 4.0 (40) 3.5(35) 0.04 4.5
i RL-125N 121.2 1131 25 6000 4.0 (40) 3.5(35) 0.06 7.0
RL-150N 175.2 160.8 30 5500 4.0 (40) 3.5(35) 0.10 9.6
RL-200N 3125 2904 35 5500 4.0 (40) 3.5(35) 0.29 15.5
AhEYR < DIMENSIONS
Model A B  C DI D2 (hE7) F Gmax Gmin. H  J K L 11 12 (I-'\I/EIS) N

RL-75N 75 15 107 | 90 H 90 65 30 45 30 57 180 | M20x25 6-M8x16 M8x60 12 1 21 | 35

RL-100N 100 20 132 115 100 80 | 30 | 45 25 | 72 195 M20x2.5 6-M10x20 M8x75 12 21 35

RL-125N 125 25 | 160 | 140 130 110 35 50 25 82 | 205 M24x3.0 6-M12x20 M8x85 12 25 45

RL-150N 150 | 30 190 170 130 | 110 45 55 | 25 95 218 M30x3.5 12-M12x24 = M10x100 = 16 & 32 | 45

RL-200N 200 | 35 245 220 145 120 | 55 70 35 115 | 240 @ M36x40 | 12-M16x30 M10x125 21 38 @ 60

77 AUTOGRIP



RL-AN ¥ 7 AU 3 e BR T B
ROTATING HYDRAULIC CYLINDER WITH AIR CONNECTION

B TRIVOEREL - EREREATR -
ZERUREIKHEEZ -

® To allow compressed air to be feed from the rear end of the distributor
through the rotating union.

® (Can screw it from the rear end of the cylinder when mounting.

N ERE - BERAMENHGE -
= When used, a little oil mist should be contained.
6~L1 4’5‘«
RC1/4”
Air Port {£&4L A:ID.RE [ ) I
—TT B: St. 1772 T*r—h
Nl e (TS el | o =
11— Q) alol 8
() S B SEELIEEE
"L et N
RC14" 1
\6%/ Drain Port %587 57 o8 =
1 13 2~RC3/8"(RL-A200N:RC1/2”) | 10 S NL
Pressure Port  #4#7L 109.5 H G
60 | A
J
-
A B | Dr
(REBIAE SRR
Subject to technical changes
i #31E SPECIFICATIONS
BISR JEZEMEE Eff. piston area 1772 ReaEH EeEREBN AREERSEREN I E o
A N @I
Vodel B4l (Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure /:;I;i?g?;?ﬁ: Moment of inertia | Weight S
cm? cm? mm min*(rp.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg ;E
RL- A75N 426 371 15 6000 4.0(40) 0.8(8) 0.01 3.0 [
il
RL- A100N 77.0 715 20 6000 4.0(40) 0.8(8) 0.04 45 f
RL- A125N 121.2 1131 25 6000 4.0(40) 0.8(8) 0.06 7.0
RL- A150N 175.2 160.8 30 5500 4.0(40) 0.8(8) 0.10 9.6
RL- A200N 3125 290.4 35 5500 4.0(40) 0.8(8) 0.29 155
MBS R ~F DIMENSIONS
E G G M
Model A B C D1 D2 h7) F e | mhi H J K L L1 L2 (H8) N
RL- A75N 75 15 1107 90 90 | 65 | 30 45 30 | 57 | 166 M20x2.5 6~M8x 16 M8x60 12 21 35
RL-A100N 100 | 20 | 132 115 100 80 30 45 | 25 | 72 181 M20x25 6~M10x20 M8x75 12 21 35
RL-A125N 125 | 25 | 160 140 130 110 35 50 | 25 | 82 191 M24x3.0 6~M12x20 M8x85 12 25 45
RL-A150N 150 | 30 | 190 170 130 110 45 55 | 25 | 95 | 204 M30x35 | 12~M12x24 M10x100 | 16 | 32 | 45
RL-A200N 200 | 35 | 245 220 145 120 55 70 | 35 | 115 225 M36x40 @ 12~M16x30 @ M10x125 | 21 @ 38 | 60

AUTOGRIP 78



’ RC 3 8 432 GE SN B 10 e S [BR AT BT R

HYDRAULIC CYLINDER WITH ROTATING JOINT

o hEATIEBEMEL -

o DIMEERBENEEBLEER  BENFREREMARPOLKHEK -

o (NERIFHEHEHE -

o OJFAFCITIERABA S AR M A% RUAIZRIET TR A -

® Medium and solid hydraulic cylinder with channel.

® Can choose an external rotary joint with either single or double paths.

® It meets the demand for coolant through spindle and airtight pressure detect
function.

® Has a buil-in check valve for safety.

® Stroke control via proximity switch or linear positioning system.

n OERBERIMNEERENERENERELERERD -
= The proximity switch and single or double paths rotating joint are optional.

6~L1 L2
20
10 sl B 5
=
S A: .D.AR
%~R HAB —— B: St. 1712
ressure port A, K
307 AB é S L
2ol I T s ~r ]
o 0 N
gggﬁL RS | 88588 8
S| —— = |
| —
ot U) | i
e g
Dr
23.5 ‘
Q||P
H
G2 J G1
RIS BB
Subject to technical changes
1T #R31% SPECIFICATIONS
itk JEZEHEME Eff piston area 1112 EeEg EaEREN I 5=
{3 (Extend) HiIfHl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg
vo
E RC-85 43.8 48.1 20 5000 3.5(35) 0.01 6.8
/g* RC-100 65.6 64.4 20 5000 3.5(35) 0.02 9.2
£
a RC-125 109.8 108.5 25 5000 3.5(35) 0.03 111
ﬁ RC-145 152.2 1439 30 5000 3.5(35) 0.03 14.6
RC-200 279.3 273.6 35 4000 4.0(40) 0.26 355
ShES R <) DIMENSIONS
Model A B C1 C2 D E (h7) F G1lmax. G1min. G2max. G2min. H J K
RC-85 85 20 120 116 100 65 30 45 25 28 8 70 150 M20x1.5
RC-100 100 20 135 131 115 80 40 45 25 28 8 72 158.5 |M30x1.5
RC-125 125 25 160 156 140 110 40 50 25 33 8 78 164 M30x1.5
RC-145 145 30 187 183 165 110 50 55 25 38 8 89.5 169.5 | M40x1.5
RC-200 195 35 257 257 225 120 55 73 38 515 16.5 120 2225 |M36x4.0
Model L1 L2 M(H8) M1 N P Q Q1 R s1 s2 T1 T2
RC-85 6~M8x75 125 20.5 10 40 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-100 6~M8x75 125 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-125 6~M8x80 11 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-145 6~M10x90 18 42 12 57 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-200 6~M16x130 26 38 12 65 15 6.5 4 RC1/2 35 M4x10 60 M5x11

79 AUTOGRIP



HYDRAULIC CYLINDER WITH ROTATING JOINT

o IEEBMOERMALERT -
® Rotating joint and Proximity switch with bracket type.

’ RC 3 8 452 OB SN B 10 e S JBR AL BT

F1 BlE - EBE F2 BlE - #BE
With single path rotating joint (Fixed type) With double paths rotating joint(Fixed type)

M1 BE  ERE M2 BE  ERE
With single path rotating joint(Moving type) With double paths rotating joint(Moving type)

B ARMEAREIANSZ 2R s RN SIR

linear Sensor with bracket Proximity switch with bracket

zE
i
£
a
L
i

* iR PO RIS SRR S - * The proximity switch and rotary joiint are optional.
* OSBRI N - * Choose and attach the appropriate type.

* BN ER S AR RN - * Please contact AUTOGRIP for more detailed drawing.

autocrip 80



TSR R e B h B W B ] (— ) HEEEL
COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

SR - SRS REEHET -

IR R B s - R RTIRERI TR -
ZEREHEREEZ

For short form, light weight and high speed rotary cylinder.

Built-in safety check valves, pressure relief valves and proximity sensor.
Can screw it from the rear end of the cylinder when mounting.

SRALEC SN BB EONEE DB REESE -

TRBAEBIEBUSRUEEURREE - (I Hm)

= The drain port should be independently connected to oil tank to avoid
back pressure.

= Stroke Detection Type can be customized to Linear Posisioning System.

2~RC3/8" £ ==
P Port A,B -
%ﬁrse';;fr/ieo ' [F=— AID.mE| N K
, B:|St. 1772 /
[ ] X ——
il I Ve nimmal 0
< 1P NI mEE] %J s & 8 8
| 15 S
H
. | |125 - ==
Drain Port ‘ L
e H L. =
[ J G
Drf AB
RBIBIEIERAHER
Subject to technical changes
z AT SPECIFICATIONS
;g fith JEZHETE Eff piston area 172 B Eg EaERES I 582
pc] 8l (Extend) HIfl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
i Model
&1 cm? cm? mm min-Y(r.p.m.) MPa(kgf/cm?) kg-m? kg
RE-110 92.7 879 20 6000 3.5(35) 0.02 6.9
RE-120 110.8 106 21 6000 4.0(40) 0.03 8.8
RE-130 1304 1231 30 6000 4.0(40) 0.03 9.1
SNEY R <F DIMENSIONS
C G G M
Model A B h7) D B F e i, H J K L L1 (H8) N
RE-110 110 | 20 145 | 128 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 35
RE-120 120 | 21 | 168 | 145 42 29 60 39 69.5 & 148 M20x2.5 6~M10x75 17 22 35
RE-130 130 | 30 168 | 150 @50 33 60 30 79.5 @ 158 M24x3.0 6~M10x85 17 27 40

* 3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

81 AutocriP




RE te e RS B ch BB B M ER G () BEERL
COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

SR - KERGIVEEMERG - FhlESERARIER -

IR R B s E - R B R TIZ ST R -

LRI HERHEE 2 -

For short form, light weight and high speed rotary cylinder, suitable for
vertical lathe.

Built-in safety check valves, pressure relief valves and proximity sensor.
Can screw it from the rear end of the cylinder when mounting.

SHORAECEH N BB EOUNEE - DB RELES R

TRBAEB B RSREEU LTS - ( .J?—Ju% )

The drain port should be independently connected to oil tank to avoid
back pressure.

Stroke Detection Type can be customized to Linear Posisioning System.

L2
=N, - — )
=4 \ J
Ve
5 h _
_ K
A 1.D. AR
B: St| 1712
A s N| =
O B RGCELER
\ 1
N| M
2~RC1/2" AT
Pressure BPort AB
(RE 1502 ~RC3/8")
- H G
RC3/8" J
Drain Port JEHFL
(RE-150:RC1/4") f
Dr | AB
Subject 10 tochniclchanges e
iR 1E SPECIFICATIONS ;;'i
RIS JEZEETE Eff piston area 172 BeEEg EaERES I i 5@
el #{8 (Extend) HI{8) (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight =
Mode
cm? cm? mm min-}(r.p.m.) MPa(kgf/cm?) kg-m? kg il
RE-150 1744 160.8 30 5500 4.0 (40) 0.06 14.9
RE-200K 2924 2749 35 4000 4.0 (40) 0.19 29.1
RE-200L 2924 2654 50 4000 5.0 (50) 0.21 304
RE-250 465.2 438.2 60 2000 5.0 (50) 0.43 47.2
ShESR~F DIMENSIONS
Model A B C D1 D2 E F G G H J K L L1 L2 M M1 N P Q
(h7) max. | min. (H8)
RE-150 150 30 205 180 130 110 45 60 30 99 1775 M30x3.5 M12x24 M12x105 185 32 10 50 125 114
RE-200K 195| 35 257 225145 120 55 73 38 120 239  M36x4.0 | M16x30 | M16x130 27 38 12 65 15 150
RE-200L  195| 50 257 225|170 125/ 65 80 30 | 135 254 | M42x3.0 | M16x30 | M16x145 27 45 12 65 15 150
RE-250 245 60 307 275 220 160 65 85 25 165 280  M42x3.0 M20x35 < M16x175 28 45 12 65 15 150

* 3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.
AuTOGRIP 82



505 & B U B (— ) mzanz

COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

o S KERGEIRUOEHEL ULHARKRHAZESR -

o  NEFILREEHKE - RERRRITREIESITERE -

o LZRIUMEIKKEYZ -

® For short form, light weight and high speed rotary cylinder. To allow
compressed air to be feed from the rear end of the distributor through the
rotating union.

® Built-in safety check valves, pressure relief valves and proximity sensor.

® (Canscrew it from the rear end of the cylinder when mounting.

SR EB N BB EOREE DB RELESEE -

ERE - FEAMERHTE -

TRBHMEB OB AR TN RFEE - (F1H=m)

The drain port should be independently connected to oil tank to avoid back
pressure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Posisioning System.

ilﬂ -
] ;
1 L = —
Th=— ap.r&E | N K
|l o = O
— i _ _ wLiw A
‘6 { \ | QI Q, Q| Q| Q
8
”%Q 15
-
L85 [ =
o 12.5 :
H L) kb
2~RC3/8” , M J G
Pressure Port A,B 1 . AB
#m+L A,B Drain Port 8587, Dr |,
vo
- RBIBIEBEOHER
;Bﬂ Subject to technical changes
2 54 SPECIFICATIONS
o
i fith JEZEETR Eff piston area i7i2 SOk E=ERAES ARNESERES I 5=
il #(Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure /l:/ilraiogpeescstliﬁ: Moment of inertia | Weight
Model :
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-A110 91.2 87.9 20 6000 4.0(40) 0.8(8) 0.02 6.9
RE-A120 109.3 106 21 6000 4.0(40) 0.8(8) 0.02 8.8
RE-A130 1289 1231 30 6000 4.0(40) 0.8(8) 0.03 9.1
ShEL R <) DIMENSIONS
C G G M
Model A B h7) D B F i H J K L L1 (H8) N
RE-A110 110 | 20 | 145 128 @ 42 29 60 40 66 @ 146 M20x2.5 6~M8x70 12 22 38
RE-A120 120 | 21 | 168 | 145 @ 42 29 60 39 | 69.5 | 148 M20x2.5 6~M10x75 17 22 38
RE-A130 130 | 30 | 168 | 150 50 33 60 30 | 79.5 | 158 M24x3.0 6~M10x85 17 27 43

* 3R . DC 10-30V 100mA NPN -

83 AuTtocrIP

*Proximity sensor : DC 10-30V 100mA NPN.




’RE A PR ET RO ERET () FREEL

COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

B KERGEIRUEREL  JEHARKHEEZR
NEZ LR BSEEE  RER R TREHIER -
LR HERKHEE 2 -
For short form, light weight and high speed rotary cylinder. To allow
compressed air to be feed from the rear end of the distributor through the
rotating union.
0 ® Built-in safety check valves, pressure relief valves and proximity sensor.
® (Canscrew it from the rear end of the cylinder when mounting.

BMA R EB L EBELHEE DR ELSE

FERE - FEAMENHEE -

TRBAEBIEN SR EN R FHE - (FHm)

The drain port should be independently connected to oil tank to avoid back
pressure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Posisioning System.

2x2~M5X8 6-L1 J-_Z,‘
m [
Wi\ Bt—— = ——
I el 5
T _— :
B — K
© A: LD, RIS TEU_UJN
: o| -1 B BRI 3150
S R SN NISIE
‘ = N L M1
R ﬁrﬁ—;ﬂzj =
Pressure Port A,B p 12~L
07, AB RN _
(RE-A150:2~RC3/8”) R —
RCa/8" Air ‘ H G
Drain Port J85H7L — s ‘
(RE-A150:RC1/4”) J
RC1/4"
Air Port SE& 7L I
(RE-A150:RC1/8”) br | AB

IREBRABIEAORER]

Subject to technical changes 7o
%5315 SPECIFICATIONS i
Ltk SEZEETE Eff. piston area 712 REEEH B EAES ERARSEREN I 58 ;?E
Model #18(Extend) HIffl(Retract) Piston stroke Max. speed Max. pressure A,\;;i?g?;?&?g Moment of inertia =~ Weight ﬁ
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-A150 1744 160.8 30 5500 4.0(40) 0.8(8) 0.06 14.9
RE-A200K 2924 274.9 35 4000 4.0(40) 0.8(8) 0.19 291
RE-A200L 2924 2654 50 4000 5.0(50) 0.8(8) 0.21 304
RE-A250 465.2 438.2 60 2000 5.0(50) 0.8(8) 043 47.2
ShEL R ~F DIMENSIONS
Model | A B C DL D2 S F O W K L 11 2 M MNP Q

RE-A150 150 30 205 180 130110/ 45 60 30 99 1775  M30x3.5 M12x24 M12x105 185 32 10 50 125 114

RE-A200K 195 35 257225145 120 55 73 | 38 120 239 @ M36x4.0 M16x30 M1éex130 27 38 12 65 15 150

RE-A200L 195 50 257 225170125/ 65 80 30 135 254 M42x3.0 M16x30 M1éx145 27 45 12 65 15 150

RE-A250 245 60 307275220 160 65 85 25 165 280 M42x3.0 M20x35 M16x175 28 ' 45 12 65 15 150

* 3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.
AuTocriP 84



’ RE-L tE e 2 S BT /KB B R ER G (—) B

COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

BE  EERSAIKEEMEL - JEBRRRATIHIK -
NEFIEREHEME - R EBERTRERILEFRRE -
ZEFRORAERRHEEZ

For short form, light weight and high speed rotary cylinder. To allow
coolant to be feed from the rear end of the distributor through the
rotating union.

Built-in safety check valves, pressure relief valves and proximity sensor.
Can screw it from the rear end of the cylinder when mounting.

SRMA R EBNEBZEOEEE  DBRELTR -

KBRS - BB -

TRBAEBIE SR EN R FHE - (F1Hm)

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.
Stroke Detection Type can be customized to Linear Posisioning System.

2~RC3/8” L
Pressure Port A,B
#MfL AB

=

-~ A:LD. Wy 3
10 |V B s aE L]

oM

oF
oE
@D
oC

2114

RC1/8” .
Coolant Drain Port ‘ 4 I s ey S
BIKFL I L
235 125 | H L1 F
J G

RC1/4”
3 RC1/4”
Collant Port JE7KA, Drain Port 3387,

z
H Subject o echnical hanges
B
B i #R1E SPECIFICATIONS
=] b JEZEHETE Eff. piston area 712 B EEH & ERES KA EREEREN I -
il el # R (Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure Coillg;t ;?ezr;ﬁon Moment of inertia| ~ Weight
Mode :
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-L110 92.7 87.9 20 6000 4.0(40) 1.5(15) 0.02 7.2
RE-L120 109.3 106 21 6000 4.0(40) 1.5(15) 0.03 91
RE-L130 128.9 1231 30 6000 4.0(40) 1.5(15) 0.03 9.5
AhEYR<F DIMENSIONS
C G G M
Model A B (h7) D E F — il H J K L L1 (H8) N

RE-L110 110 20 145 | 128 42 29 60 40 66 | 169.5 M20x2.5 6~M8x70 12 22 38

RE-L120 120 21 168 = 145 42 29 60 39 69.5 | 1715 M20x2.5 6~M10x75 17 22 38

RE-L130 130 30 168 = 150 50 33 60 30 | 795 | 1815 M24x3.0 6~M10x85 17 27 43

* 3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

85 AuToGRIP



’ RE-L BEEaRCaMnE (— ) HERED

COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

o FiF KEESET/KEEMEL - lERREHRAETIHIK  HrESER
RUNER -

R RSB S - R B R TI2 ST -

LRI o HERHEE 2 -

For short form, light weight and high speed rotary cylinder. To allow
coolant to be feed from the rear end of the distributor through the rotating
union, suitable for vertical lathe.

Built-in safety check valves, pressure relief valves and proximity sensor.

® (Can screw it from the rear end of the cylinder when mounting.

M A R ERB M EBEELHEE DR ELS R
5$7J<ﬁﬂﬁifﬁE%LLH?: BEEE -

TRBAERBOE SR E N R FHE - (F1Hm)
The drain port should be independently connected to oil tank to avoid back
pressure.
The rotary cylinder should not run without liquid through coolant port.
Stroke Detection Type can be customized to Linear Posisioning System.

2x2~M5X8 6% L2
i | T ]
2~RC1/2" i Y H i =
Eressure PortA,B il
B LT &l ~
(RE L1502 ~RC3/8") —— K
z e
= A: LD. VW -
8 = T %'{ﬁgg oo
‘% @ o B: St. 1772 - SIS
125| | )—— N|| |1
CoIIant Port JE7KFL TEP——— i
- — 12~L
P —
25 L
RC3/8”
Drain Port 83#7, H G
(RE-L150:RC1/4") J
RC1/8” )
Coolant Drain Port 327K, AHB

REBRAB SRR
Subject to technical changes

F2 i #524% SPECIFICATIONS

itk JEZEMHEME Eff piston area 112 BEOEY =afEREN KSR R E AR I £
Vodel #18(Extend) Hffl(Retract) Piston stroke Max. speed Max. pressure CO%ET ;cr)er;r;ﬁi(taion Moment of inertia Weight
cm? cm? mm min*(rp.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-L150 1744 160.8 30 5500 4.0(40) 1.5(15) 0.06 15.2
RE-L200K 2924 2749 35 4000 4.0(40) 1.5(15) 0.19 294
RE-L200L 2924 2654 50 4000 5.0(50) 1.5(15) 0.21 30.7
RE-L250 465.2 438.2 60 2000 5.0(50) 1.5(15) 0.43 47.5
4B~ DIMENSIONS
Model A B C D1 D2 (hE7) F mf;x‘ mGin. H J K L L1 L2 (I-’\|/|8) M1 N P Q

RE-L150 150 30 205 180|130 110 45 60 30 99 201 M30x3.5 M12x24 M12x105 185 32 10 50 125 | 114

RE-L200K 195| 35 257 225 145 120 55 73 38 120 264 M36x4.0 M16x30 M16x130 27 38 12 65 15 150

RE-L200L | 195 50 257225170 125 65 80 30 135 279 M42x3.00 M16x30 M16x145 27 45 12 65 15 150

RE-L250 245 60 307 275220 160 65 85 25 165 305 M42x3.0 M20x35 M16x175 28 = 45 12 65 15 150

* 3R : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuTOGRIP 86

2z
i
[
@
L
il




4 ro Y5 L ) €48 B30 88 e R T e

DOUBLE ROD ROTATING CYLINDER WITH SAFETY DEVICE

RE - KE . ERINEERERT -

R LR B SRS R R TR RS -

For short form, light weight, double rod rotary cylinder.
Built-in safety check valves and pressure relief valves.

SHAREB N EIEELREE B RELESE -
The drain port should be independently connected to oil tank to avoid
back pressure.

,,,,,,,,, Cylinder A Cylinder B 6~M12x1.75x24
A: 1.D. A& q
pn M42x1.5
. (L
B: 1.D. A& 35h _
B L M20x2.5
=== A Dr il i S
=E) | =2 e
8 N gy| = = =
2 e 1 5 9 °©
= RC1/4” W H 35
1313 Drain Port 2L 2 40.5 51,
0 —1
] 2~RC3/8" )
60 Pressure Port ## 90 c F
D E
RBBIEIEREHET
Subject to technical changes
iR 4& SPECIFICATIONS
EZE EAEEfT, piston area
BISE 718 ReOEY EeERRT I E3
pas] B4 (Extend) Hfl(Retract)
;Ei A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight
B2 Model
4} cm? cm? cm? cm? mm min-Y(r.p.m.) MPa(kgf/cm?) kg-m? kg
®
&1 RD-120 122.7 126.1 116.1 1131 20 5000 3.0(30) 0.14 113
RD-125 122.7 126.1 116.1 1131 25 5000 3.0(30) 0.15 11.5
MBS R~F DIMENSIONS
Model A B C D E max. E min. F max. F min.
RD-120 125 130 137 227 60 40 35 15
RD-125 125 130 147 237 55 30 35 10

87 AuTOGRIP



M RO-N  EEmemaE -

DOUBLE ROD ROTATING CYLINDER

A . KE - ERAVRE R -
For short form, light weight, double rod rotary cylinder.
n CERAREBNERELDRE DBRELSR -

= The drain port should be independently connected to oil tank to avoid
back pressure.
Cylinder A ?ylinder B 6~M12x1.75x24
. prec
A:1D. ti {ﬁé N42x1 5
B |D W gé ‘ 35ﬁ - e @
I ‘ I M20x2.5
(gﬂ A B | Dr ﬂ Sz B
o m——VLﬂ wn O
hq — © 22 o <t| N~
= 5 o S I I
8 10| L%Ji Q
L RC1/4" L I 35
Drain Port %A, H
27, 28 5.1
13113 0 —=
[ 2~RC3/8” .
Pressure Port #H7L 77 C F
60 D -
RBRISERET
Subject to technical changes
T #i1% SPECIFICATIONS
JEZEETAESS. piston area
Sk 1712 EeEH EaEREN I ES-
B (Extend) HiI8l(Retract) pac]
A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight ?
Model i
cm? cm? cm? cm? mm min?(rp.m.) MPa(kgf/cm?) kg:m? kg 4}
L2
RD-120N | 1227 | 1261 @ 1161 1131 20 5000 3.0(30) 0.14 11.2 il
RD-126N | 1227 | 1261 1161 1131 25 5000 3.0(30) 0.15 114
MBI R <F DIMENSIONS
Model A B C D E max. E min. F max. F min.
RD-120N 125 130 137 214 60 40 35 15
RD-125N 125 130 147 224 55 30 35 10

AuTOGRIP 88



